
Rack Screws Rubber Pads

ProRak Multi-Angle 
Rack



ProRak

Do not contact your dealer, please visit
www.RABAudio.com/contact-us for parts and services.

Rack Rail

Casters

7/16" Zinc Plated Screws

3/4” Black Screws

Cap Nuts w/Bolts

Confirmat Screws

Multi-Angle 
Rolling Rack

Diagram reference for steps 2 and 4



Rack Screws Rubber Pads Rack Screws Rubber Pads

ProRak

ASSEMBLY Step 1 of 4
Tools required: Philips Screwdriver
1. Lay sides on a flat surface. Align rack rails on pre-drilled

holes and secure with 7/16" zinc plated screws.

ASSEMBLY Step 2 of 4
Tools required: Hex Key
1. Secure both bases to each racked sides with confirmat screws.

2. Lay caster bases on a flat surface. Align casters to
pre-drilled holes and attach with 3/4" black screws.
If you have purchased the MA10 skip this step.

2. Secure feet to both sides using cap nuts and bolts.
Reference diagram on page 2 if you need help with placement.

Multi-Angle 
Rolling Rack



Rack Screws Rubber Pads

ASSEMBLY Step 3 of 4
Tools required: Hex Key

1. Flip the unit upside down and attach caster bases to the
feet with confirmat screws.

ASSEMBLY Step 4 of 4
Tools required: Hex Key

1. Flip the unit right side up, attach the angle adjustable shelf sides 
to each side with cap nuts and bolts.

Reference diagram on page 2 if you need help with placement.

2. Lay the shelf over the shelf sides, secure with four confirmat screws 
and you are finished.

ProRak Multi-Angle 
Rolling Rack


	Blank Page

	PARTS LIST: 
	DESCRIPTION: 
	2: 
	A1: 
	Feet: 
	4: 
	A2: 
	Pedestal Spacer: 
	2_2: 
	A3: 
	Pedestal Front: 
	2_3: 
	A4: 
	Pedestal Back: 
	2_4: 
	B1: 
	Inner Rack Vertical wKeyboard Slider: 
	2_5: 
	B2: 
	Outer Rack Vertical: 
	2_6: 
	B3: 
	Speaker Shelf: 
	2_7: 
	B4: 
	Armrest Top: 
	2_8: 
	B5: 
	Armrest Front: 
	B6: 
	Armrest Angle: 
	2Row1: 
	B7: 
	B4 B5 and B6 Combined: 
	1: 
	C1: 
	Center Brace: 
	1_2: 
	C2 C3 C4: 
	Cable Trough: 
	1_3: 
	C5: 
	Monitor Shelf: 
	1_4: 
	C6: 
	Mixer Bed: 
	1_5: 
	Keyboard Tray: 
	4_2: 
	10U Rack Rails: 
	4_3: 
	4U Rack Rails: 
	6: 
	Silver Tray Screws: 
	30: 
	34 Black Screws: 
	1_6: 
	Keyboard Slide Set: 
	97: 
	Confirmat Screws: 
	Multiboard 36: 
	94: 
	Confirmat Screws_2: 
	Multiboard 26: 
	2_9: 
	Rubber Pads: 
	16: 
	1032 Rack Screws for Mounting Gear: 
	TOOL LIST: 
	1_7: 
	4mm Allen Key: 
	1_8: 
	Hex Bit: 
	undefined_3: 
	undefined_4: 
	fill_1: 
	undefined_7: 
	Weight ratings for each B3 is 40lbs MAX: 
	undefined_5: 
	undefined_6: 


